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CERTIFICATE IN GUIDANCE (CIG) 

Term-End Examination 

7 c-1 -7) December, 2019 

NES-103 : GUIDING CHILDREN'S LEARNING 

Time : 3 hours 	 Maximum Weightage : 70% 

Note : Answer all the three questions. All questions carry 
equal weightage. 

1. Answer the following question in about 
1000. words : 

What is conditioning ? Describe the process of 
learning through classical and operant 
conditioning. 

OR 

How does remediation help children cope up with 
learning problems ? Design remedial strategies 
for any two of the learning problems. 

2. Answer the following question in about 
1000 words : 

What are the causes of inattentiveness in 
children ? Explain at least one activity to 
promote attentiveness. 

OR 

How can good study habits be developed in 
children ? Discuss with suitable examples. 
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3. Answer any four of the following questions in 

about 250 words each : 

(a) Discuss the laws of learning with suitable 

examples. 

(b) How can reading ability be encouraged in 

children ? Explain with suitable examples. 

(c) What are the various techniques of 

facilitating memorization ? 

(d) Discuss the behavioural view of motivation. 

(e) Discuss Maslow's hierarchy of needs as 

motivators for learning. 

(f) How can socio-emotional problems of 

children with physical and sensory 

impairments be reduced ? 
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